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fasa- INCOME TAX YI9S: YUH

quTie : 30 FAdH IoTid: 10
die:— gdereff yAe gvs & A B S d ugH) YTl Bl g B |

qerRdt 5 e

A Hri—1

Gus I — AT TSR U (1 ¥ 8) el 08 ULH &, Wl U IfaR | Uiy UeH 05 3
IR eq AT 1—2 e AT Uh TR |

Yus g — Jfd TYITNIY U (9 W 14) Rl 06 U & [O9H ¥ DIg 04 UL 8 B | Ul
U3 01 3 &I BEIT| SR I AT 75 AT AT UST |

Ri 12 2 £ )

YU | — AYSTRIY U (15 I 18) A 04 U 2 5794 W BIS 03 U 8 B | Uld U 02
3f BT BT | SR Ieq AT 150 AT UH U |

=g sri—3

GUS T — g 4" I« U (19 W 22) B 04 YA B TEH F DIS 02 U & B | U
U 04 3 BT BNIT| Teq HMT 300 IT & U |

A dri—4

GUS § — QY Id U (23 W 24) Ht 02 U & NTEH H DIS 01 U & By | URT geA
08 3 B BEIT| IR DI @ AT 600—750 AT 4—5 U |

A Rl 1

(Assignment—1)

Yurs—3
(Section—A)

1. YA TN o dTell DN

Income tax levied on company is called ................. .

2. {3 st & 01 @F ghawr EGEC G

Loan without interest is exempt upto = .................... .



3. #EHM & FET W oy T 0T W AT F gd @ 3@y B /e fopedl W el
I B |

Loan borrowed to construct house interest for the prior period of construction is deductible

N e installment.

s R Rrgar & o W e § gedi 3

Rent received from sub-tenant is taxable under the head ................... .

5. ﬁﬁw&ﬁww‘&maﬁag .................... |

Depreciation rate on professional books is .................. .

6. Qe Yol 81 & gfd e T P ST Faha 2 |

Long-term capital loss can be set off only with ................. .

Deduction of health insurance premium is given under Section ................. .
Yrs—d

(Section—B)

9. HMT AT BTl DI & 2

Who is deemed assessee ?

10. HTe fewra 1T & ?
What is standard rent ?

11, SPTel Yol HURT ST FHSY |
Explain long-term capital asset.

12, ST WM R Fkl 1 & ?

What is tax deducted at source ?



13.

14.

I g el & 7 fIRau 59 W g 8 gl 2|

Write the names of head of income which can be incurred losses.

R e &g ?
What is tax planning ?

T k- 2

(Assignment—2)

Yrs—4

(Section—C)

15.

16.

17.

18.

ek MaRfl s @@ feAR a0 @ W@ W H
172,000 9T, * 36,000 HETg I, 6,000 HEME WAl T ° 10,000 U 9Y B R | @
HARE el &1 SH TG a9 H 30,000 HHM fHREAT WAl UG N, Wdih IE 36,000
AHM HRIAT GO | IR A PR-IFG AHM [HRT T G I |

Resident of Gwalior Shri Kamal Kishor Bansal got
72,000 as salary, ~ 36,000 as dearness pay, = 6,000 as dearness allowances and ~ 10,000 per
annum as fixed commission during the previous year. During the previous year he received
30,000 as house rent allowance though the paid * 36,000 as rent. Compute exempt and

taxable house rent allowance.

TG @ qMNG Jod BT T (A FHISY |

Explain the method of calculating annual value of house.

MR 3qqT U F 37T B 0T ey T30 |

Discuss the procedure for computation of income from business or profession.

TR UYST T T M 2 ? X e BT &3 UV |

What do you mean by Tax Management ? Discuss its scope.



A BRi- 3

(Assignment—3)

YUls—q

(Section—D)

19.

20.

Sl S, GO A BT T 2020-21 BT AT BT AR £ YR 2

() I (ST RIF | 6,000 MAFR FIe & d16) ° 2,48,000 TS |

(i) HEMS 9T (Qar @ wdt b i) © 12,000 aTfde |

(iii) e s (3 geai @ for) 5,700 a1 |

(iv) ffrer s (arafae fafdedr @/~ 4,000) * 7,200 a1 |

(v) ToRmT 90 7@ (98 #) SR 5,000 URT AE fBRmAT @R & | HBH Gafod @
Ud §0d BieR Bl fbR1AT ° 2,000 AMND & | B RO 9§ 2021-22 & fofy da9 &
I FT DI |

The following particulars are of Mrs. Dr. Veena Soni’s Income for the previous year 2020-

21:

(1) Salary (after deduction * 6,000 for income tax at source) ~ 2,48,000 per annum.
(i1)) Dearness allowance (under the terms of employment) ~ 12,000 per annum.

(ii1) Education allowance (for three children) ™ 5,700 per annum.

(iv) Medical allowance (actual expenditure ) 4,000)

* 7,200 per annum.

(v) Rent free house (in Mumbai) the company paid
" 5,000 per month as rent. The house is furnished and the rent of the furniture is * 2,000

per annum. Compute income from salary for the Assessment Year 2021-22.

fyarira Rerfdr &1 gdr &8 R ol & ? 396 USRI & Jferd ¥ J9sigy |

How to find residential status ? Explain in brief its types.




21. @0 @ @ HHM U4 foR1Y W QT 7Y A @) o Ay wHEsy |
Explain computating method of self residence house and let-out house.
22. U% AR & M-8 @l & weor | FrafeiRad ard 919 gs
(i) HIEX WIGT 23,800 TF HrireaR TRIGT 13,000 |
(i) @R & oIt FR TRIE ° 40,000 T4 96 IG-IE@MG | ° 18,000 2 By |
(iii) M BT Ale | g ug afayfd € 3,000 |
(iv) WRAE ST ISl & gA1d By H S 700 |

(v) I R T 3,000, IRAAD I O 2,400 |

P A Y Wil AT AIHd 81 AR T ? FHAS |
The following facts find out from the P/L A/c of a trader :

(i) Computer purchased for * 23,800 and furniture * 13,000.

(i) Car purchased for business ~ 40,000 and maintenance exp. incurred * 18,000.
(ii1) Termination compensation given to clerk * 3,000.

(iv) Donation to election fund of BJP * 700.

(v) Bad debts reserve * 3,000 actual tax debts " 2,400.

Which expenses will be allowed and which disallowed and why ? Explain.

W IR 4
(Assignment—4)
Yug—g

(Section—E)
23. YRS IR BT drald 9IS R 8 ? 50D bR Ud DR FHIASY |
What is Central Board of Direct Taxes ? Discuss its functions and powers.

24, . Bgyam Rig & o O AR 999 8, o {6 I8+ o g & fore w9 8, foear
faeror faeforRad ©

Hold I | bl II | I 111




) ) 0)
qMdh TN 1,50,000 | 2,00,000 —
TN ol J-(Lc&ﬂ.cbd 1,00,000 | 3,00,000 | 3,00,000
B"f%ﬁf ﬁﬂTﬂT 1,80,000 | 1,80,000 | 3,50,000
TRUTfTdT B

12,000 24,000 36,000
R Nil Nil 2,000
GIEI ;ﬁﬁm 12,000 13,000 6,000
iﬂ'}-[ fopTaT 18,000 70,000 4,000

ot f8 7 76 11 & MA@ foly 6 AT 10% afe 16T W 0T 1 S, 2013 BT forlm
Tq 10 Hg, 2021 DI YR b | i A1 BT (FHI0T 75 2018 H qoF &1 T o7 |

A Rig & PR-MURT 9§ 2021-22 & oI AHM FURT § I &I TUFT DIV |

Mr. Rudra Pratap Singh occupied three houses for self residential, particulars of which are

follows :
House I | House II | House I11

O 0 O
Standard Rent 1,50,000 | 2,00,000 —
Municipal
Valuation 1,00,000 | 3,00,000 | 3,00,000
Fair Rent 1,80,000 | 1,80,000 | 3,50,000
Municipal Tax
Paid 12,000 24,000 36,000
Repairs Nil Nil 2,000
Insurance
Premium 12,000 13,000 6,000
Ground Rent 18,000 70,000 4,000




Mr. Singh borrows ~ 6,00,000 @ 10% per annum for construction of house III on 1 June,
2013 and repaid on 10th May, 2021. Construction of all houses was completed in May,
2018.

Compute income from house property of Mr. Singh for the assessment year 2021-22.

o N\

1. 9 dEq o @1 o) 9 fager ScaxyfRaer fATe 31 oFma 2023 d@ d&fa
AT D A oW X | G HRl wW—swfafEad s 9y | g @ gr1 forar 4,
Biciadl a1 e &1 3601 faueEn faa |ree &1 gaiT |41 SR |

2. 8 ¥ o dw Bg I Hfia Al &1 WY ST R wad 2 |

3. WAld &l 99 SHad-feder  2023@1 Agifae Y UF @1 W@wed @A e
Sead—faxiax 202351 &) BT

4. 9 o > YIHd H BE §RI f6U U eqdq vd o, fawa @ s qen
dEd § HAifdddl B AR IR—T SR SHE A |dEd R 3Aferbad 60 gfaerd
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NEIRECE

YU T — 3g AH IR U (19 | 22) FHA 04 UH ¥ RrAH A g 02 U gA Y | U
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=g B4

Gus § — QY I U (23 ¥ 24) B 02 U & OTEH ¥ PIg 01 U & By | UlA UeA
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A BRI- 1

(Assignment—1)

Yug—3

(Section—A)

1. “YEE@R ATl o1 v orEl a9 ? o & yewr @ forg Suanh A 27 '
ferera aRvTT 8 ?

“Management accounting is concerned with accounting information that is useful to
management.” Whose definition is it ?

2. TAT-HAT U BT G R 7

What is the formula of profit-volume ratio ?

3. Te], 3FIUT I ey WK €A1 8 7

What is Ideal level of current ratio ?



4, JIEE B e I’ BT A1 AW T 7
What is meant by ‘Net worth’ of a business ?
5. UG @ 37 Yol § uRac & Iy yaTe § oI 9N B @ ?
What is the effect of fund flow due to conversion of debenture into share capital ?
6. SMIIR DI AT AHS YIS BT R & ?
What is the Income Tax refund of a cash flow ?
7. 98 °U<Hh Sl I 3T qoicl Bl YHIAd BRAT  DIF-HT gCh Bl & 7
A factor which influences all other budgets is called which factor ?
8. dRAIH AN SR YU AN & 419 & IR Pl 1 Phed © ?
What is the difference between actual cost and standard cost known as ?
Yres—dq
(Section—B)
9. USHDII oREAlY U HI GREINT BHIT |
Define the term Management Accounting.
10. oI U T & ?
What is accounting ratio ?
1. afda oh @7 & ?
What is working capital ?
12. AT A Vdbs fhd dgd & ?
What is called cash from operation ?
13. JoIc ¥ MY T A3 & ?
What do you understand by budget ?
14, TG feRor fagelyor @ § 2
What is cost variance analysis ?
g - 2
(Assignment—2)
Yrs—

(Section—C)

15.

Fe # foRT oRdTh UG Yavee oRdih B 3R T PIfoTT |

Distinguish in brief between Financial Accounting and Management Accounting.



16. AWINT T R 8 2
What is Marginal Costing ?

17. qREM T SO a1 § ?

What is margin of safety ?

18, SSRGS @G df g a7 § ?

What are the limitations of responsibility accounting ?

i ar- 3
(Assignment—3)

Yls—q
(Section—D)
19. 31 WP 2019 B FAIK B dlel IY $T Uh HH BT ARG U9 AH-8I Grl -+ IR

g

ARG T4 AMH-8IH @l
Y

URMS xERmEr | 1,00,000 | 5,60,000
o 3,50,000 | aifew <gferr | 1,20,000
FoTe 6,000
Thel o 2,24,000

6,80,000 6,80,000
TONIG 28,000 | qde ™ | 2,24,000
[EERC]
fae=or g 70,000
N dgred g | 14,000
3G o 1,12,000

2,24,000 2,24,000

3! R SIUTdl @1 TOMT BRAT 3 -

() Whel AN U
(i) Y& o™ U



(iii) Tl IguTd
(iv) STl @M 3FUTd

Following is the Trading and Profit and Loss Account of a firm for the year ended 31
March, 2019 :

Particulars Am?unt Particulars Am?unt
) )

Opening Stock 1,00,000(Sales 5,60,000
Purchase 3,50,000|Closing Stock | 1,20,000
Wages 6,000
Gross Profit 2,24,000

6,80,000 6,80,000
Administration Gross Profit 2,24,000
Expenses 28,000
Selling and
Distribution
Expenses 70,000
Non-Operating
Exp. 14,000
Net Profit 1,12,000

2,24,000 2,24,000

You are required to calculate following ratios :
(1) Gross Profit Ratio

(i1)) Net Profit Ratio

(iii) Operating Ratio

(iv) Operating Profit Ratio

20, ADHS YATE IR U7 T 7 ? 39 T SHWINT a1 A 9arsy |

What is Cash Flow Statement ? Discuss its main uses and limitations.

21. T% BREM H 10000 SHISAT & IAGT & folv Y guic A4 TaR 7 T & -
* 9fd sreal
t

SIEpil 70




q 25
BIERENIGRSEIRER 20
Wl SuRery * 1,00,000 10
BIRERENITCED 5
fadwor g (20% ReR) 7
fam! g (10% fRer) 13
PRIKIECCID) * 50,000 5
ERRIG] 155

ANTAl B g Y BRd g 6000, 7000 T 8000 THIFAI & oY AMGR duic AR BT |

g A1 of b memafe g W TR R Rer B |

The expenses budget for production of 10000 units in a factory are furnished below :

" per unit

Materials 70
Labour 25
Variable Overhead 20
Fixed Overhead " 1,00,000 10
Variable Expenses 5
Distribution Expenses (20% Fixed) 7
Selling Expenses (10% Fixed) 13
Administration Exp. (" 50,000) 5

Total Cost 155

Prepare a flexible budget for production of 6000, 7000 and 8000 units. Assume that
administrative expenses are rigid for all levels of production.

22. TG STd oiGId Bl TR SIRTY | 369 Se3di @ fqdemT Hifvy |

Define Standard Costing. Discuss its objects.




W IR 4
(Assignment—4)
Grs—s
(Section—E)
23, foxiTg fqaRor & favelvor & oMU @1 e € ? 39 9e3 SR Wil o1 v BIfo |

What do you mean by analysis of financial statement ? Discuss its objectives and
limitations.

24, forfoRad Eamll & AR faeRonl @) O B -
I
A 60 3B @ 2.00 HfT 3T

B 40 3918 @ 3.00 Ul 3BT

100 SHISAT

IR :
80 3PS @ " 3.00 Ul SHTS

40 3BT @ 5.00 IR 3PS

120 gHIAl
Calculate material variance from the following information :

Standard :

A 60 Units @ ~ 2.00 Per Unit

B 40 Units @ * 3.00 Per Unit

100 Units

Actual :



80 Units @ ~ 3.00 Per Unit

40 Units @ ~ 5.00 Per Unit

120 Units

(reers - N\

1. ¥ dEq a1 @1 w) 4 fa@ey ScaryfRasr fRA1$ 31 arma 2023 d@ weaft@
LTI D% A oWl B | A B W—swffEad g9 913y | W & gRI foran
BIcieId a1 g &I o faueT sgfaa |reE &1 93T |44 S |

2. 8 ¥ o dwe Bg I Hefia Al &1 WY ST R wad 2 |

3. A WA 99 wad-fiEer 2023@1 AFIAd U UF &1 W@wU 9 Bl
Sa—fegax 2023941 & BT

4. ¥ o & Yeuied ¥ BF R fHU WY IewAe wd dwe, favg @1 @ qen
dEq A Aifadar &1 AR FR—T TR $HH IAFIT AW R IAfrHad 60 gfoerd
(18 &iw ) fear @@, fwg—avg & @@= & fay affrean 20 gfaem (6 8id) do
gorois, difaes—ara ysfRfa 9 w afreaw 20 gfiea (6 3id) 9 &1 9ad 2|

\\ 39 UBR o 100 URed (30 3id) P fF9To @ | /
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fawa— o gevy YIS gl

qoi® : 30 = schif®: 10
dic— Wiaefl yde avs o AUl & a9 4 ugH) Ul Bl FA BN |

Tdiemedt &g fdw -

WA HRI—1

Gus I — AT AYSTRIT U (1 ¥ 8) el 08 UH ©, W U AGR | ufd Uyvd 05 3
IR Teg HH 1—2 & AT U dT |

GrS 9§ — A TYSTNIT U (9 W 14) B 06 U 2 s & #1804 U g1 W | ufa
U3 01 3 &1 BT | SR g AT 75 AT AT U |

Ri 12 2 £ )

GUS ¥ — TYITNII U (15 ¥ 18) Pl 04 U © T I Bl 03 U 8 BN | Ul e 02
3fd BT BRI | SR Ieq AMT 150 AT TH U |

=g -3

WU T — 3fg AH SR U (19 | 22) FHA 04 UH ¥ RrAH A B 02 U gA Y | U
U 04 3idh BT BNIT| Teg HMT 300 IT & U |

=g B4

Gus § — QY I U (23 ¥ 24) B 02 U & OTEH ¥ PIg 01 U § By | UlT UeA
08 3f® BT BIIT| SR DI & AT 600—750 AT 4—5 U |

W - 1
(Assignment—1)

Yrs—3
(Section—A)

oM qofed F1 & ?

What is Capital Budgeting ?
2. 3G Y fobg ded © ?

What is Revenue Expenditure ?
3. qAM eI ¥ @d € ?

What is Present Value ?



4. Ul @ AN @ R R 7 ?
What is the meaning of cost of capital ?
5. EPS & [T 99 &1 & ?
What is the full form of EPS ?
6. ol TR AT & ?
What is Capital Gearing ?
7. BRI Yol @
What is working capital ?
8. TIRNCY WR ¥ Y T e © °
What do you mean by Re-order Point ?
Yres—dq
(Section—B)
9. faffrINT Mol & a9 T el & ?
What do you understand by Investment Decisions ?
10. 3TTIR® YA B R 1 8l & ?
What is the internal rate of return ?
11, I W MY R T & 7
What do you understand by Leverage ?
12. FHAT § IR ¥ R IR © °
What is the meaning of Trade on Equity ?
13. IS UG I ATqDHT R T & ?
What do you mean by Cash Management ?
14, T 91 A Yol R 7 ?
What is ABC system ?
W FRI-2
(Assignment—2)
Yrs—

(Section—C)

15.

DS YaTg T 81T © 2
What is Cash Flow ?



16.

17.

18.

%07 Ioll @1 aFTd 5 YR $1d & A & ?

How is the cost of debt capital computed ?

AT T BT EiRT &= dTel ged P-4 g 7

What are the factors that determine dividend policy ?

prieie ot @ A feiRa &xe 9l T 'ed PN-d § ?

What are the main factors determining the amount of working capital ?
A - 3

(Assignment—3)

Yls—q
(Section—D)

19.

20.

21.

22.

fo<iTa yeer o W faevare de-91 € ? faxiia veg & yemee U6 Werd il sy |

What are the characteristics of Financial Management ? State the administrative and auxiliary
functions of Financial Management.

IR Slad Ud fadiiy Sdiaid § R T BT |

Explain the difference between operating leverage and financial leverage.

W B U fOUY T &) dffid AT 10000 SPISAN & | Tl X Bl oFTd Ufd a9 20% 2
AT QY <7 BT AT Ui < ° 40 © | Yfelbdl gRT IYd Hed ° 4 U 18 @, fobeg
giciddl 1,500 AT ARG | AL o7 & foll 5% ST BE <7 & 39gd © | F1 9ccl U

P WHd HA AMIS © °

Annual demand for a particular item of inventory is 10000 units. Inventory carrying cost per
unit per year is 20% and ordering cost is ~ 40 per order. The price quoted by the supplier is
4 per unit. However, the supplier is willing to give discount of 5% for orders of 1,500 or
more. Is it worthwise to avail of the discount offer ?

APS ST I AUBT T add & 7 Abs Y Y& B MaIHARI BT AR quH
PHIFY |

What do you mean by cash management ? Explain in detail the requirements of keeping
cash fund.




W IR 4
(Assignment—4)

Grs—s

(Section—E)

23. 3] foIfcs @1 Uil HRE H ° 10 dTel 10000 |HAT 3 TAT ° 1,00,000 & 10% FOUF &,
STdich BRI B Fel TG 500,000 § | HHAT DI Bl GHRT BT A 2 7 | THD! ReR
aRaTed @I 2,00,000 T URAATRITA IRETAT ARTAl @1 fasl | U 40% |
ATIR B TR 30% & | B! ford I TR & Ileddl B TVFT DI |

The Annu Ltd.’s capital structure consists of 10000 equity shares of = 10 each and 10%
debentures of
" 1,00,000 whereas the total assets of the company are * 5,00,000. The company’s total assets
turnover ratio is 2. Its fixed operating costs are ~ 2,00,000 and its variable operating costs

ratio to sales is 40%. The income tax rate is 30%. Calculate all the three types of leverages
for the company.

24, UGl FREAT ¥ AU FT 3L & ? U B Bl ol Gl S YHIfad HR dlel ddl bl
AT HIFY |

What do you understand by Capital Structure ? Discuss the factors influencing the capital
structure of a company.

(v h

1. 99 dEd o & =R 4 fa@ey ScavyRaer fRA1e 31 erma 2023 d@ wefda
AAIT D A o B | A B W—swafafEad g1 913y | SR @ gRT foran
wlciadl a1 (e ST 3681 e Sfaa |ree &1 93 |44 SR |

2. B 949 1 d@q ¥q I "afia gwasl &1 H SuFhT FR wad 2|

3. §Ald UEl 9 wead-fawear 2023@1 AGif0e U uF &1 wWwu 9w i
SHa ey 202391 & IR

4. T o & Joried A B §RT f6U Y JemdT ud o, fawa @1 e e
a9 ¥ #Hifdedr bl AR I9R—T SR—¥T| 399 WIS 9™ U 3Aferdan 6o yfoea
(18 3w ) fear AW, fwa—asg @ @@= @ fay fread 20 gfiiem (6 &i®) don
goHrais, difaes—aia gslRfa s w afreaw 20 yfiea (6 3id) < & 9&d 2|

\\ 3H UBR Yo 100 Yfrera (30 3A®) &1 fAqre B9 | /




H-144
ufded g<xdrd Al (qad) faeafdenea s<iare, faamayR
LEIRECAE (Assignment Work) 99 — SHa—feeR 2023
i, (i@ ad) (Group-II)

fawa— o wWieo g: aqef

qoi® : 30 = schif®: 10
AMe:— gdareff v gves o fAden & a9 @ e} YTl Bl 8 B |

qemedt 3 e

=T w1

Gus 3 — I TSI U (1 ¥ 8) et 08 UL B, W U Ifard | Uiy U= 05 3 SR Tea AT
1—2 I AT b qTH |

Gue § — JAf TSI U (9 W 14) HA 06 Y © R I Pl 04 U &A B | Ul YT 01 3fb Dl
BT | SR g 1T 75 T 3MTET U |

=g srf—2

GUS ¥ — TSI U (15 | 18) {eT 04 U 2 fH ¥ PIg 03 LT & I | UM UL 02 3fF & BN |
IR &g AT 150 AT U U |

=g sri—3

GUg T — 3@ Ard I U (19 ¥ 22) FA 04 U 2 RTHH A BIE 02 YT &S BN | URT U 04 3(F BT
BRI | 9reg T 300 AT &7 US|

=g w4

Gus § — <Y I TR (23 ¥ 24) B 02 U © fORIH F BIS 01 U A by | U YA 08 3idH Bl
BRI | SR @7 9Tsq AT 600—750 AT 4—5 U |

A BRI

(Assignment—1)

Gue—3
(Section—A)
1. QIS oIl YUITell BT ST &d gafl o ?

When was double entry system invented ?

2. “UPTdl ATUR BT JPer Ve Bl 8|7 I8 HUT AT & I 3 |

“Audit of sole trading is voluntary.” This statement is true or false.
3. WERN a9 H JdHd o Fgfdd o eril g ?
How is the appointment of auditor made in partnership business ?

4. “Seo RUIC I 9197 A%l U4 g Bl AT |7 FE HUT WA & T 3 ?



“The language of auditor’s report should be simple and correct.” This statement is true or

false ?
5. S $Y YR B § ?
When does investigation begin ?
6. e TR B AW & WE A BN § ?
What are the main source of charitable institutions ?
7. NG SDHEOT BT UG Ie¥d R 8 7
What is the main object of cost audit ?
8. DX ADHET W AT FT FHN ¢ ?
What do you mean by tax audit ?
Yres—dq
(Section—B)
9. feher] R T ?
What is auditing ?

10. 3BT & YT YHR 1Sy |

Discuss the main types of audit.

11, YA FT g ?

What is vouching ?

12. <M T @7 8 ?

What is civil liability ?

13. SFHEN & ALIH Tcd gy |

Discuss the essential elements of investigation.

14, T SPeToT BT YRYTET 7T |

Define management audit.



A - 2

(Assignment—2)

Yrs—4

(Section—C)

15.

16.

17.

18.

3aRe fARIEr @ faPrean sargy |

Discuss the characteristics of Internet check.
erTel R BT fBET0T TSV |

Explain the audit of a charitable institution.

T §fchTT HFIAT BT ADeTIT IS gRT fbd TR fhar S ?

How would you conduct the audit of a banking company ?
e SDE0 & e HT GUE DI |
Describe the objectives of management audit.

AT e 3

(Assignment—3)

Yls—q

(Section—D)

19.

20.

21.

22.

DL BT A W PIY TAT $AHT [d9I-819 TG Hged forfau |

Explain the meaning of auditing and write its scope and importance.

THIOH T GemT § 3R T BT | YHI0H b SET DI 9d1gy |

Differentiate between vouching and verification. Discuss the objects of vouching.

faTT I o /1 2 ? fOMTeE I oM & TR § 3aed @ dhadl @l gaTsy |

What is divisible profit ? Discuss the duties of an auditor in respect of divisible profit.

AT SADEToT B JTERCN AT & ? 5P Hged BT gue DI |

What is the concept of cost auditing ? Explain its importance.




W IR 4
(Assignment—4)
Yrs—3g

(Section—E)
23, WA & HAUE U4 JeAih H H®T <R & ¢ [y YeR B TRl B qedidd Hd
Ty - ardl &1 & @ ARy ?

What is the difference between ‘verification” and ‘valuation’ of Assets ? What point should

be kept in mind while valuating different kinds of assets ?
24, THHI ATk B (YA, Fspred, SRl vd aiRsIie & e H a7 gavey § ?

What are the provisions of law regarding the appointment, removal, disqualifications and

remuneration of company auditor ?

(e e h

1. ¥ dEd o @ ) 9 faeer ScaxgfRaer fRAie 31 srra 2023 9@ weft@
LTI D% A oWl B | A B W—swffEad g9 a1fdy | W & gRI foran
BIcieId a1 §&d &I o faueET sgfaa |req &1 93T |44 S|

2. B 99 o d@q vq I "afia gwasl &1 Hf SuAT IR 9ad 2|

3. A WA 99 wad-fiEer 2023@1 AFi0d U U3 &1 W@wU 9 Bl
Sa—fegax 2023941 & BT

4. ¥ o & Yeuied ¥ BF R fHU WY IewAs ud AW, favg @1 @ qen
odEd ¥ Hifdedr &l AR IERT SR $9H W d U 3iferean 6o ufowa
(18 &iw ) fear @@, fwg—avg & @@= & fay affrean 20 gfaem (6 8id) do
gorrois, difaes—ara ysfRfa g9 w aftreaw 20 gfiea (6 3id) < @1 9ad 2|
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H-145
ufdsd g<xdid Al (qad) faafdenea s<iare, faamayR
LEIRECAE (Assignment Work) 99 — SHa—feeR 2023
i, (@ ad) (Group-III)

fava— fwm o g YIS I

quTis : 30 FAdH Iconid: 10
dre— el g gve & Adel & 249 9 ugH} UEl Bl g B |

RIS RSN

= srd—1

Gus I — AT THITT U (1 8) {eT 08 UL B, T UL AR | URA U 05 3 IR Wea AMAT
1—2 ¥ IT U a1 |

Gue g — A AGSTIT U (9 W 14) HA 06 UeH & FORT I Bl 04 U & P | URT U 01 3 Bl
BT | SR g AT 75 T 3MTET U |

= srf—2

GUS ¥ — TYIWRIY U (15 A 18) {1 04 U © FORT ¥ PIg 03 UL & P | URT UH 02 3fH BT &N |
IR Teq AT 150 AT U U |

= a3

GUS T — 3@ Q" IR U (19 9 22) {A 04 U © fTHH F BIS 02 U & I | U U 04 3id Bl
BRI | wreg AT 300 AT &7 U |

= srd—4

Gus § — Y I U (23 ¥ 24) B 02 U © FORIH F PIS 01 U A By | U U 08 3idb Bl
BT | SR &7 ¥req AT 600—750 AT 4—5 U |

A BRI- 1

(Assignment—1)

Yug—H
(Section—A)

1. “RUorE FAT B TR Y aRadl 21”7 I8 HU fhgadr © ?

“Marketing provides standard of living to the society.” Whose statement is this ?
2. fauor fysror fsem P> @1 AT B ?
How many P’s is the marketing mix ?

3. UIfe By U w7 § ?

What is the primary purchase motivation ?

4. eumEqet AT 5 wed § ?



What is a discriminatory policy ?

5. I BT GG [ RN fhar S & ?
What are the reasons for the product being renewal ?
6. Il Fiar o Wi a3l @1 9198 U 81 ¥, Al Ig I el © ?
If the manufactures keep the same brand of all their goods, what is it called ?
7. BF-U AN &1 Y9G SIS & Hedl TR TSl © 2
Which cost has an effect on the price of the product ?
8. foharce fauvr Hemy febwras g g it € °
By whom are the functional marketing middlemen appointed ?
Yls—q

(Section—B)

9.

10.

1.

12.

13.

14.

fqqurT & SIS TR R’ 8 P

What is the and product concept of marking ?

fauor fAysror @ omg w1 THT B 7

What do you understand by Marketing Mix ?
I RO W R M B ?

What do you mean by Buying Motives ?

ARG ¥ 3T /T 98§ 2

What do you understand by Trademark ?
el 7 B © ?
What is Price ?

Ted IR A MY T FHI § 7

What do you understand by Price Strategies ?



W - 2
(Assignment—2)
Yrs—

(Section—C)

15. 9T NP AR I BT <7 ATy ? TS |

Should wholesellers be eliminated ? Explain.

16. Wi IRV & #8cd H gig & AT FRU & ?

What is causes responsible for increase in the significance of physical distribution ?

17. Y R BT Ulhar $T THgy |

Explain the process of inventory control.

18. Haed & I fIRay |

Write the objectives of promotion.

g - 3
(Assignment—3)
Yls—q
(Section—D)

19. Hag- YSUH DIF BT & 7 59 bl Bl foIlRad |
Who is promotion manager ? Write his duties.
20. TaeUe @& g o7 Uil € ? FHesd |
What are the objections regarding advertisement ? Explain.
21. 9IR H JARTH 95 B wlham b1 qesY |
Explain the process of personal selling in market.
22. I fashal Ud HIoeR fAhadaial # 1 3R © ? fahd B Idhaci Bl R B d U
qargd |

What is differences between traveler seller and counter seller ? Write the measures to

remove the bottleneck in sales.



W IR 4
(Assignment—4)
Grs—s
(Section—E)
23, 9RA & AU aATERYT H Y S dTel ATATeRON SaR U4 gl Bl IaeRv dfed auie
HIRTY |

Discuss with examples of the environmental opportunities and threats found in marketing

environment in India.

24. YBRIT BT IRART IRT | FBRIT & 2T 3R o /&1 E ? 0 Yol @) fagwang
qaTgd |

Define packaging. What are the objectives and functions of packaging ? Give characteristics

of a good package.

(e e h

1. ¥ duq e @1 w) 4 fa@exy ScavyRasr fRA1® 31 arma 2023 d@ waft@
LTI D% A oWl B | A B W—swfafEad g9 913y | gER & gRI foran
BIcieId a1 §&d &I o faueHET sgfaa |req &1 93T |44 S|

2. 8 ¥ o dwe Bg I Hefia grasl &1 WY ST R wad 2 |

3. A WE 99 wEad-fiEer 2023@1 AGiAd U U3 &1 W@wU 9" Bl
Sa—fegaR 2023941 & BT

4. ¥ o & Yeuied ¥ BF R fHU WY IewAs ud dwe, favg @1 @ qen
dEa A Aifadar &1 AR TR TR $HH IFIT AW WX IAfrHad 60 gl
(18 &iw ) fear @@, fwg—avg & @@= & fay affrean 20 gfaem (6 8id) do
gorrois, difaes—ara ysfRfa g9 w aftreaw 20 gfiea (6 3id) < @1 9ad 2|

\\ 39 UBR o 100 URrerd (30 3id) &1 fA9Te @ | /




H-146
ufded g<xdra Al (aa) faafdenea s<iare, faamayR
LEIRECAE (Assignment Work) 99 — SHa—feeR 2023
i, (@ ad) (Group-III)

fava— foi fauoe aRkarem YIS W55

qoi® : 30 = schif®: 10
AMe:— gdareff v gves o fAden & a9 @ e} YTl Bl 8 B |

qemedt 3 e

A dri—1

Gug 3 — AT AgSTRI U (1 ¥ 8) FHoI 08 U ©, T U 3if1ard | Ul Ued 0.5 3 IR ed AT
1—2 & I Y a1y |

Gue § — JAf TSI U (9 W 14) HA 06 Y © R I Pl 04 U &A B | Ul YT 01 3fb Dl
BRI | STR TG ST 75 AT 37T UT |

=g srf—2

GUS ¥ — TSI U (15 | 18) {eT 04 U 2 fH ¥ PIg 03 LT & I | UM UL 02 3fF & BN |
IR &g AT 150 AT U U |

=g sri—3

GUg T — 3@ Ard I U (19 ¥ 22) FA 04 U 2 RTHH A BIE 02 YT &S BN | URT U 04 3(F BT
BT | ereg <ATHT 300 AT QT UST |

=g w4

Gus § — <Y I TR (23 ¥ 24) B 02 U © fORIH F BIS 01 U A by | U YA 08 3idH Bl
BRI | SR @7 9Tsq AT 600—750 AT 4—5 U |

A Rl 1

(Assignment—1)

Yle—3
(Section—A)
1. Yol 9OIR & @1 &1 B 2 ?
What are the functions of capital market ?

2. IMRPR T ®T 8 7
What is right issue ?
3. 4l (SEBI) & qXT M qaTsy |

Write the full form of SEBI.
4. TG BT Pls Tb BRI g9V |



Mention any one function of SEBI.

5. SU-qolle ¥l BEd & ?
What do you mean by ‘Sub-Brokers’ ?
6. W AUl & Tl & Plg Tb B (AR |
Write any one duty of stock market brokers.
7. "d< 4R A1 R e | foRag |
Briefly write the function of merchant banker.
8. isc ST & BIg Al YR forRy |
Write any two types of credit rating.
Yls—q

(Section—B)

9.

10.

1.

12.

13.

14.

AT 3 fhd FEd & ? $d Il BT Soolkd BIfoTT |

What is equity share ? Describe the advantages of equity share.
T IR @1 1 FERN § ?

What are the problems of primary market ?

el H Rl & UoiRyl R U iera fewof sy |

Write a short note on the registration of intermediaries with SEBI.
foefra gomrelt # T faufora o yfie @1 qedia Hifg |
Evaluate the role of stock exchanges in the financial system.
YCHIferl FATEHR’ Ud “HRITTT {aerebd’ $IF 8 & ?

Who are the ‘Portfolio Consultants’ and ‘Institutional Investors’ ?
yRERE (et @1 € ?

What is mutual funds ?



W - 2
(Assignment—2)
Yrs—

(Section—C)
15. 31T far # Yol ATeIR @1 AT GHsmsy |
Discuss the role of capital market in economic development.

16. ATl & Y& v Wel g1 by 1Y qeTiiep IUIF Ty |
Discuss the statutory measures taken by the SEBI for investors’ protection.

17. ¥ fqufdT & Sl §RT ARl &1 MUSRT fohd YR a1 9 & ? |Heisy |
Explain the settlement of transaction by brokers in stock exchange.
18. HoC dfeT T & ? HUC daR DI | IR B © °
What is merchant banking ? What work do merchant bankers do ?
GERICIUEE

(Assignment—3)

Gue—3
(Section—D)
19. WRT H YIS TOIR ¥ 9oaH 99 H Sl Hgedqul e §U 8, SHdl auid $ifory |

Describe some of the important developments that have recently taken place in the primary

market in India.

20. fd9re fR7em oI ReTT Iy Pl AHRY |

Explain investor’s education and protection fund.
21. T A1 Wb Sl | T 3™ & ? SHD Uuilgd, AAQl, YBR Vg BRIl B ol
BT |

What is meant by Broker of Stock-Brokers ? Describe his registration, qualification, kinds

and functions.

22, RA H Howe dfhTT BT gl 3R BRIGR BT 0 DI |

Describe the growth and functioning of merchant banking in India.



W IR 4
(Assignment—4)
Yrs—3g

(Section—E)

23, FERG IR T fgdad aoRk ® v & R e & 9w+ § $H-9 Uy o) T &
?

Which measures are adopted for Investor’s interest protection in secondary market ?

24. Hfse T ToIf~aal & fRIeToT Ud SN & R H YfshdAT Bl quid BIfoTu |

Describe the procedure relating to inspection and investigation of the credit rating agencies.

(e e h

1. ¥ dEq a1 @1 w) 4 fa@ey ScaxyfRasr fRA1$ 31 arma 2023 d@ weafd@
LTI D% A oWl B | A B W—swfafEad g9 913y | R & gRI foran
BIcieId a1 §&e &I o faueET sgfaa |req &1 93T |41 S|

2. 8 ¥ o dwE Bg I Hefia grasl &1 WY ST R wad 2 |

3. A WA 99 wead-fiEer 2023@1 AFi0d U UF &1 @wU 9" sl
Sa— gy 2023941 & BT

4. ¥ o & YeOied ¥ BF NI fHU WY IewAe wd dwe, favg @1 warer e
dEa A Hifadar &1 AR FR—T TR $HH IAFIT AW R IAfHad 60 gfoerd
(18 &iw ) fear @@, fwg—avg & @@= & fay ffrean 20 gfaem™ (6 8id) do
gorrais, difas—ara yslRfa g9 w afrean 20 yfoera (6 i) < &1 9dd 2|
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